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The fourth target problem was the *‘football’” problem  respectively), a much lower percentage (31%) of the
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come can go in either direction may have been too large
a leap for most subjects.

Finally, with respect to the Tigers and cookie problems,
it is worth noting that both the SV-T and SV-C subjects
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ceived the same training examples; however, the solutions
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were fairly good at realizing the need to achieve an old
subgoal (finding EVENT-AVG) in a new context. Fur-
thermore, most subjects were good at recognizing that
EVENT-AVG was provided directly in these two
problems. This recognition was probably aided by the fact

GENERAL DISCUSSION

Two assumptions concerning the conditions under
which learners acquire and transfer subgoals and methods
have been proposed in this paper. A subgoal was assumed
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APPENDIX A
Example Poisson Distribution Problem
Eighty-four sociologists were asked how many journal articles

they had published in the last 3 years. It was observed that 23
sociologists nublished 0 articles. 29 nuhlished 1 article. 17 nub-
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APPENDIX B
Another Example Poisson Distribution Problem

A football field was cut up into 300 equally sized pieces.
A total of 539 tackles were made on Lhe ﬁeld over the course

A
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E(X) = [0(223)+1(142) +2(48) +3(15) +4(4))/432
= 299/432 = 692
=\

average number of wars that.broke out
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ior  problem we would have been ignoring the rest of the informa-
1ig-  tion (the observed frequencies for all the other values of x), which
ior  helped us to calculate X more precisely.
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